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Paper One RA¥E—

Part I Listening Comprehension (20 minutes, 15 points)
Section A
Directions: In this section, you will hear 9 short conversations. At the end of each con-
versation, there will be a question. Both the conversation and the question
will be spoken only once. After each question there will be a pause. During
the pause, you must read the four suggested answers marked A, B, Cand D
and decide which is the best answer. Then mark the corresponding letter on
the ANSWER SHEET with a single line through the center.
Example: You will hear:
You will read:
A. At the office.
B. In the waiting room.
C. At the airport.
D. In a restaurant.
Sample answer [A]] [B] [C] [D]
From the conversation we know that the two were talking about some work they
have to finish in the evening. This is most likely to have taken place at the office.
Therefore, A. ‘At the office. ’ is the best answer. You should choose [A7] on the An-

swer Sheet and mark it with a single line through the center.

. USD 214.
USD 240.
USD 213.
USD 230.
. In 1984.
In 1985.
In 1986.
In 1987.

. Leaving it alone.

oo
>T00P>DOR>

Asking the teacher.

0w

Sitting down.
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D. Trying to find an answer.
A. He wants to leave.
B. He wants to have a break.
C. He wants to continue.
D. He wants to kill time.
A. The new teacher is sick.
B. She doesn’t feel well.
C. She hasn’t met Prof. Bright yet.
D. She didn’t want to meet the new teacher.
A. She doesn’t want him to smoke.
B. She has no objection.
C. She doesn’t have any cigarettes with her.
D. She-doesn’t smoke.
A. The man is a stranger.

B. The woman is a stranger.

C. Both of them are strangers.
D. Neither of them is a stranger.
A. In the restaurant.

B. In the library.

C. In the dormitory.

D. In the classroom.

A. A local call.

B. A long distance call.

C. An emergency call.

D

. A service call.

Section B

Directions: In this section, you will hear 2 short passages. At the end of each passage,
you will hear some questions. Both the passage and the question will be spo-
ken only once. After you hear one question, you must choose the best an-
swer from the four choices marked A, B, C and D. Then mark the corre-

sponding letter on the ANSWER SHEET with a single line through the cen-
ter. '

Questions 10 — 12 are based on the following passage.
10. A. They have stopped carrying out any activities.
B. They have gone to the swimming pool.
C. They have kept quiet.
D. The went to sleep early.



11. 5,000 meters.

40,000 meters.

10,000 meters.

15,000 meters.

. They want to sleep well at night.
They fall far behind the others.

Their parents want them to do so.

12.

TSOoOW»UOW >

. They know that training is very important.

Questions 13—185 are based on the following passage.
13. A. Saving food for the next meal.
B. keeping food from spoiling.
Avoiding being stuffed or starved.
Eating food at any time.
14. A. Leaving food in the sun.
Keeping food in a refrigerator.
Leaving food by fire.
. Preserving food with salt.
. To dry food.
To cook food.

To use salt.

15.

DOWPTOW» IO

. Not mentioned.

Part II Vocabulary (10 minutes, 10 points)
Directions: In each question, decide which of the four choices given will most suitably

complete the sentence if inserted at the place marked. Mark out your choice
on the ANSWER SHEET.

16. At a press conference after the award ceremony, the 18 —year—old girl spoke in a

barely voice.

A. audible B. optional C. legible D. identical

17. A neat letter improves your chances of a favorable

A. circumstance B. request C, reception D. response

18. Our readers are comfortable with our clear, words that inform and

entertain them.

A. conventional B. concise C. creative D. crucial
19. The concerns with the origins of the earth their study.
A. motivated B. advised C. excited D. impulsed
20. The cashier was asked to every penny of the money that he took

5




22.

23.

24.

25.

26.

27.

28.

29.

30.

131.

32.

33.

2L

care of.

A. account to B. use up C. amount to D. account for

By the end of 1994, 558 kinds of products had been ) green food.
A\v named B. restricted C. classified ® labeled

Hé pointed out that the living standard of urban and people contin-
ued to improve.

A. remote B. municipal C. rural D. provincial

Why does a vegetarian restaurant make its dishes resemble meat in every way except
—_— '

1\7 ingredients B. elements C. components D. compounds

the impact of the ideas introduced to Europe by soldiers returning
from the East, the West was greatly changed.

A, Because of B. By means of C. In addition to D. In spite of

For the past two years, Audi cars have Germany’s Touring Car
Championship.

A\/ dominated B. conquered C. determined D. contested

China Daily never loses sight of the fact that each day all of us a
tough, challenging world.

A, encounter B. acquaint C. preside @ confront

While shopping in a department store, 1 ___left my purse lying on a
counter of handbags. -

A. initially B. fortunately C. frustratedly . accidentally

Rejecting the urging of his physician father to study medicine, Hawking chose to
on maths and theoretical physics.

A. impose B. center - C. éverwork D¢ concentrate

If you push hard on the world, the world will push back on you; if you touch the
world gently, the world will touch you gently

A\./'m return B. in the long run C. in turn D. in place

Have you a funny or unusual experience that you would like to
share?

A_ amusement fB. incident C. accident D. section

As a salesman, he works on a(n) basis, taking 10% of everything
he sells. aE

A./income @ commission C. salary P pension

Cut off by the storm, they were forced to food for several days.
A. goin for B. go over G go without D. go out

He was enough to understand my question from the gestures 1
made.

A intelligent B. efficient C. proficient D. diligent




34. Does it to let little children play with fireworks?
-
@ make clear B< make sure C. make out . make sense
35. All parts of this sewing machine are so that it is very simple to get

replacements for them.

A. mechanized B. minimized C. modernized 65 standardized

Part 111 Reading Comprehension (50 minutes, 30 points) )

Directions ; There are 6 passages in this part. Each passage is followed by some ques-
tions or unfinished statements. For each of them there are four choices
marked A, B, C and D. You should decide on the best and mark the corre-

sponding letter on the ANSWER SHEET with a single line through the cen-
ter.

Questions 36 to 40 are based on the following passage.
IN THE BEDROOM
1) Don’t smoke in bed

2) Don’t overload your electrical points: the ideal is ‘one appliance, one socket. }3‘[‘5

it causes about 1,000 fires a year, many with fatal results.

3) Don’t use an electric underblanket over you or an overblanket under you. An under-
blanket, unless of the low—voltage type, MUST be switched off before you get into
bed.

4) Never let furniture or clothing get close to a lighted fire. Make sure that there is a
suitable guard for the room heater.

5) Keep aerosol —type containers (& 2%) away from heat and NEVER burn or punc-
ture (R %) them. :

6) Don’t dim a table lamp by covering it: buy a low—wattage bulb.

7) Pajamas and nightdresses, especially for children and elderly people, should be made
from flame—resistant material. ‘

IF CUT OFF BY FIRE . .

8) Close the door of the room, and any fanlight or other opening and block up any
cracks with bedding, etc.

9) Go to the window and try to attract attention.

10) If the room fills with smoke, lean out of the window unless prevented by smoke and
flame coming from a room below or nearby. If you cannot lean out of the window,
lie close to the floor where the air is clearer until you hear the fire brigade.

11) If you have to escape before the fire brigade arrives, make a rope by knotting to-
gether sheets or similar materials and tie it to a bed or another heavy piece of furni-
ture.

12) If you cannot make a rope and the situation becomes intolerable, drop cushions or

bedding from the window to break your fall, get through the window feet first,

7
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lower yourself to the full extent of your arms and drop.
13) If possible drop from a position above soft earth. If above the first floor, drop only
as a last resort.

36. According to the instructions, fires in the bedroom can be caused by

A. one appliance, one socket

B smoking in bed
C. underblankets of the low—voltage type
D. all of the above mentioned points

37. In the bedroom, you are told

A. not to.use an electric underblanket or an electric overblanket
B. to use an underblanket of the low—voltage type

C. to switch off an underblanket of the low—voltage type

®/. not to use an electric underblanket over you

38. You should keep furniture or clothes away from a lighted fire ‘because

A. the fire is too low:

B. furniture or clothes block light

C. there is no guard in the room

D furniture or clothes catch fire easily

39. If you are cut off by fire, you should first .

(a. try to stop smoke from coming into the room

-B. lie down and wait for the fire brigade .

C. escape by jumping immediately out of the window
Dbclose the window and call for help

40. You can escape a fire by

A. tying a rope.to sheets and throwing it out of the window

B. tying a sheet to a heavy piece of furniture and throwing it out of the window
G, tying a rope to a bed and throwing it out of the window

D. dropping with cushions and bedding from the window

Questions 41 to 45 are based on the following passage.

‘High tech’ and ‘state of the art’ are two expressions that describe very modern
technology. High tech is just a shorter way. of saying high technology. And high tech-
nology describes any invention, system or device that uses the newest ideas or discover-
ies of science and engineering.

What is high tech? A computer is high tech. So is a communications satellite. A
modern manufacturing system is surely high tech.

High tech became a popular expression in the United States during the early



1980°s. Because of improvements in technology, people could buy many new kinds of
products in American stores, such as home computers, microwave ovens, etc.

‘State of the art’ is something that is as modern as possible. It is a product that is
based on the very latest methods and technology. Something that is ‘state of the art’ is
the newest possible design or product of a business or industry. A state of the art televi-
sion set, for example, uses the most modern electronic design and parts. It is the best
that one can buy.

‘State of the art’ is not a new expression. Engineers have used it for years, to de-
scribe the best and most modern way of doing something.

Millions of Americans began to use the expression in the late 1970’s. The reason
was the computer revolution.

Every computer company claimed that its computers were ‘state of the art’.

Computer technology changed so fast that a state of the art computer today might
old tomorrow. The expression ‘state of the art’ became as common and popular as com-
puters themselves. Now all kinds of products are said to be ‘state of the art’.

41. What is the purpose of the passage?
A. To tell how ‘high tech’ and ‘state of the art’ have developed.
B. To give examples of high tech.
C. To tell what *high tech’ and ’state of the art’ are.
D. To describe very modern technology.
42. What can we infer from the passage?
Ai/kmerican stores could provide new kinds of products to the people.
(E High tech describes a technology that is not traditional.
C. ‘State of the art’ is not as popular as ‘high tech’.
D. A wooden plough pulled by oxen is ‘state of the art’.
43. All the following examples are high tech EXCEPT . )

A. a microwave oven

B. a home computer
(% a hand pump
D. a satellite
44. Which of the following statements is NOT true?
A. Since the computer revolution, the expression ‘state of the art’ has become pop-
ular.
B. ‘State of the art’ means something that is the best one can buy.
C. With the rapid development of computer technology, a state of the art computer
may easily become out of date.
. All kinds of products are ‘state of the art’ nowadays
45. The best title for the passage is

L 19 e O RSN o G s Do AR T e S,



A. Computer Technology
B. High Tech and State of the Art
C. Most Advanced Technology

D. Two New Expressions

Questions 46 to 50 are based on the following passage.

In the Arctic Circle, it is not that Eskimos lack ability or industry, but the sur-
roundings restrict constructive effort to the barest necessities of existence. This effectu-
ally retards progress to higher development.

Agriculture is impossible all along the thousands of miles of the north shore. The
only wood is such as drifts in. Other than this driftwood, the only available building
materials are snow, ice, stone, and bones of animals. All of these have been used for
habitations and storage places, differing in various tribes according to the requirements
and skill of the workers. ;

The lack of necessary timbers to build walls and span wide spaces is probably one
reason why these tribes construct their houses at least partly beneath the surface of the
ground. This device also makes the houses more impervious( /A3 &M ) to the cold.

Most of us are inclined to think that the Eskimo lives always in an iél()_g or snow
house. This is not entirely true. After the long cold winter, the family is very likely to
move, when the weather permits, into a tent of sealskin. The actual construction of
such a tent is similar to that used by other more southerly tribes and will be described
later.

The snow house, however, is an interesting and unique habitation. Our summer
campers will not build with snow, but the delicate art is worth recording and some of

our winter camps in the mountains might try to make snow houses.

46. Eskimos’ efforts to build houses

A. result in various buildings
[B. are limited by a hostile environment
C. are restricted by their ability
P. retard progress to higher development
47. Which of the following about the construction of houses is true?
A. Building materials differ from tribe to tribe.
B. Building materials are the same for all the houses.
C. Building materials are selected according to weather.
D. Building materials are decided by skilled workers.
48. Why do Eskimos build their houses partly under the ground?
A. They like to live under the ground.
B. They are short of essential materials for walls and roofs.
10



C. They want their houses less affected by the cold.
{D. Both B and C.

49. In the long winter, Eskimos commonly live in

f\. a snow house
B. a stone house
C. a storage house
D. a tent of sealskin
50. What does the author think of snow house?
A. Interesting. B. Artistic. C. Unique. Vb All of the above.

Questions 51 to 55 are based on the following passage.

A person may have an idea about himself that will prevent him from doing good
work. He may have the idea that he is not capable of it. A child may think he is stupid
because he does not understand how to make the most of his mental faculties, or he may
accept another person’s mistaken estimate of his ability. Older people may be handi-
capped by the mistaken belief that they are in capable of learning anything new because
of their age. '

A person who believes that he is incapable will not make a real effort, because he
feels that it would be useless. He won’t go at a job with the confidence necessary for
success. He is therefore likely to fail, and the failure will strengthen his belief in his in-
competence.

Alfred Adler, a famous doctor, had an experience which illustrates this. When he
was a small boy he got off to a poor start in arithmetic. His teacher got the idea that he
had no ability in arithmetic, and told his parents what she thought in order that they
would not expect too much of him. In this way, they too developed the idea, ‘Isn’t it
too bad that Alfred can’t do arithmetic?’ He accepted their mistaken estimate of his abil-
ity, felt that it was useless to try, and was very poor at arithmetic, just as they expect-
ed.

One day Adler succeeded in solving a problem which none of the other students had
been able to solve. This gave him confidence. He rejected the idea that he couldn’t do
arithmetic and was determined to show them that he could. His new found confidence
stimulated him to go at arithmetic problems with a new spirit. He now worked with in-
terest, determination, and purpose, and he soon became extraordinarily good at arith-
metic.

This experience made him realize that many people have more ability than they
think they have, and that lack of success is as often the result of lack of knowledge of

how to apply one’s ability, lack of confidence, and lack of determination as it is the re-
sult of lack of ability.
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